BEHRERERER (MIIFER) [E23F10H1 1H~1 7BHAIERD]
BT uSv/h

. LAy e AlEH

X WFR | REERT RS —oEmE T 08128 [ 108138 | 108158 | 10817E
- 1cm 0.35 0.33 0.33 0.33 0.31
= Ei 0.06 0.05 0.04 0.05 0.05
5 0.06 0.06 0.05 0.06 0.04
. - Tcm 0.48 0.48 0.48 0.51 0.46
HAFILE 20|15 — chesky 50cm 0.43 0.43 0.43 0.45 0.43
(EBLLIERTE) — = & 0.06 0.06 0.06 0.06 0.05
= 5 0.06 0.06 0.06 0.06 0.06
N Tcm 0.34 0.34 0.33 0.33 0.32
— = Ei 0.07 0.07 0.07 0.07 0.07
5 0.07 0.07 0.07 0.07 0.07
. - Tcm 0.15 0.14 0.16 0.16 0.15
HAFILE 20| S e 50cm 0.18 0.18 0.18 0.18 0.18
(EBLLIERER) T = B 0.06 0.06 0.06 0.06 0.07
= 5 0.06 0.06 0.06 0.06 0.06
" Tcm 0.32 0.31 0.33 0.33 0.31

Rz
. . 50cm 0.39 0.38 0.39 0.39 0.37
LB ARER = B 0.09 0.09 0.08 0.07 0.07
= 5 0.10 0.08 0.09 0.08 0.09
- - Tcm 0.29 0.2 0.2k 0.19 0.19
HAFILE 2R ||| 5N 50cm 0.23 0.22 0.23 0.23 0.20
(EBLLIERTE) SN = & 0.05 0.06 0.08 0.07 0.07
= 5 0.06 0.06 0.09 0.07 0.08
N Tcm 0.12 0.12 0.12 0.11 0.10

Rz
. . 50cm 0.11 0.10 0.12 0.11 0.10
BB TR - Ei 0.06 0.06 0.06 0.06 0.06
= 5 0.06 0.07 0.05 0.08 0.07
. - Tcm 0.13 0.14 0.11 0.12 0.10
MANADER |\ e s 50cm 0.14 0.13 0.13 0.14 0.13
(ERLLIERER) T T = B 0.04 0.04 0.04 0.0% 0.04
= 5 0.04 0.04 0.04 0.04 0.04
T
g ot cm . . . . 0.28
"R T ERFR I Ei 0.05 0.06 0.05 0.06 0.06
= 5 0.05 0.06 0.05 0.06 0.06
N Tcm 0.27 0.28 0.26 0.26 0.26
= Ei 0.07 0.07 0.08 0.07 0.07
5 0.07 0.07 0.08 0.07 0.07
- 510cm 853 8;4 8;4 0.2k 0.24
AHRE] ABRFR = B 0.08 0.07 0.07 0.08 0.07
= 5 0.08 0.07 0.07 0.07 0.07
N Tcm 0.22 0.31 0.26 0.25 0.29
SRR XS 50cm 0.26 0.26 0.26 0.25 0.27
= Ei 0.06 0.06 0.06 0.06 0.07
2 ABH] 5 0.06 0.06 0.06 0.06 0.06
- Tcm 0.32 0.34 0.31 0.29 0.29
= Ei 0.14 0.13 0.11 0.12 0.14
5 0.12 0.12 0.12 0.14 0.15
i Tcm 0.13 0.15 0.15 0.14 0.14

Rz
=TEMET =R - B8 0.07 0.08 0.08 0.08 0.08
= 5 0.08 0.08 0.08 0.08 0.08




BEHRERERER (MIIFER) [E23F10H1 1H~1 7BHAIERD]
BT uSv/h

N T AlEH
[0 "9 ~E| ~E| .;. 17
X NFR AEERT | RS —oErE T 708128 1 108138 | 108768 | 108178
- Tcm 0.29 0.27 0.28 0.28 0.27
s s S 50cm 0.19 0.20 0.20 0.20 0.19
E ] ERFFR = B 0.05 0.06 0.05 0.05 0.05
= & 0.05 0.06 0.06 0.05 0.04
" Tcm 0.15 0.17 0.15 0.19 0.16
REE
o e 50cm 0.15 0.15 0.16 0.17 0.15
FrpE] AR = B 0.12 0.08 0.10 0.12 0.09
= & 0.09 0.10 0.11 0.09 0.09
- Tcm 0.31 0.27 0.24 0.24 0.25
= . . 50cm 0.29 0.29 0.27 0.27 0.28
SAHE | BAHTFR = B 0.11 0.11 0.07 0.08 0.09
= i 0.08 0.16 0.08 0.09 0.10
- Tcm 0.47 0.47 0.47 0.44 0.46
. 50cm 0.39 0.37 0.36 0.36 0.35
HANEHE] HANEBFR - & 0.08 0.06 0.07 0.07 0.08
= i 0.08 0.07 0.08 0.07 0.08
n Tcm 0.24 0.23 0.22 0.22 0.23
erhEsg TR 50cm 0.25 0.24 0.24 0.25 0.24
- & 0.08 0.09 0.08 0.09 0.09
=2 LE] = i 0.09 0.09 0.09 0.09 0.09
= - Tcm 0.23 0.22 0.24 0.22 0.22
- & 0.10 0.10 0.10 0.09 0.09
= & 0.10 0.10 0.10 0.10 0.09
" Tcm 0.1 0.11 0.12 0.1 0.1
REE
s . . 50cm 0.11 0.11 0.11 0.1 0.1
AEE] AR = B 0.05 0.05 0.04 0.05 0.05
= i 0.06 0.06 0.06 0.05 0.05
- Tcm 0.24 0.21 0.24 0.23 0.28
. v s 50cm 0.24 0.19 0.20 0.22 0.22
4,3 #3 rh ARG
RUBE] RUBHPAL = B 0.05 0.07 0.06 0.07 0.06
= & 0.06 0.07 0.07 0.07 0.07
n Tcm 0.48 0.48 0.48 0.45 0.45
mch s g 1R 50cm 0.40 0.40 0.40 0.41 0.41
= - & 0.06 0.06 0.08 0.08 0.08
= i 0.06 0.06 0.08 0.08 0.08
" Tcm 0.20 0.21 0.21 0.18 0.18
REE
i 1 i g 50cm 0.22 0.22 0.21 0.19 0.19
FHIE] LR = B 0.11 0.11 0.11 0.70 0.10
= & 0.11 0.11 0.11 0.10 0.10
n Tcm 0.32 0.34 0.35 0.25 0.23
—sErhesg G 50cm 0.30 0.29 0.2k 0.27 0.20
— - & 0.28 0.24 0.16 0.16 0.18
= & 0.16 0.32 0.28 0.24 0.22
n Tcm 0.08 0.08 0.11 0.08 0.14
REE
. 50cm 0.08 0.08 0.11 0.09 0.10
PR EHET BHFFR = i 0.04 0.04 0.04 0.04 0.03
= i 0.03 0.02 0.04 0.04 0.03
n Tcm 0.31 0.32 0.32 0.32 0.26
i hEt g TR 50cm 0.26 0.27 0.28 0.27 0.23
- B 0.05 0.06 0.07 0.06 0.07
ChERE] = & 0.06 0.07 0.05 0.06 0.07
- Tcm 0.20 0.18 0.21 0.22 0.19
- B 0.05 0.06 0.05 0.05 0.05
= & 0.05 0.05 0.05 0.05 0.05




